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Chapter- 7
Division
WORKSHEET

A. FILL IN THE BLANKS.

1. 6120 + 10 = Quotient

,  Remainder

2. 89,990 + 100 = Quotient

,  Remainder

3. 99,000 + 100 = Quotient

,  Remainder

4. 4,67,876 <+ 1000 = Quotient

,  Remainder

5. 56,78,556 + 1000 = Quotient

B. DO AS DIRECTED.

6. Divide 56,678 +5

7. 65,890 +33

,  Remainder
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8. 8976+5

9. 3007 +14

10. 75,543 + 314

11. 6,789 + 6
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12. The cost of 15 cycles is Rs.24,405. Find the cost of each cycle.

13. The cost of 35 ceiling fans is Rs.43,050. How much does each fan cost?

14. 840 students were to be seated in 20 rows of an auditorium. If equal number of
students sat in each row, how many students were there in each row?
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15. The annual income of Sam is Rs.98,364. What is his monthly income if he earns an
equal amount every month?

3k 3k 3k 3k 3k 3k 3k 3k %k %k %k 3k 3k %k k k k

ODM Educational Group Page 4




